2008000 OOoOOooOO

gotugbobooboobuoobuobbobboobuoobuoon
ogoooboboogog

goboboooogno ooogogoo

ggbono dgobbod 000

gboogbgooboboobuoobooboboboboobuogboobobobo,
0000000000000 0,000000000000O0 (DO0)ODDOoDOoOoO. O
gb,u0ggbboodgbbuogoboodobbooobbboooobbuooobbon
0000 (00)00000000000. 0000000000000 oOoOooDOO.
goboboogoobood.

X =(X,,-,X,): R-00D0000

e H: R"—>ROOOOO (sample performance)
o [ XOODODOOOO

ooooo,

(= EHX) = | Hx)f(x)dx

R”

gbobgobgooobo.

O0bO00¢0D0000DODOOO (CrudeMonteCarlo)DDDDDDDDDDD,é:
Ly X, 00000.000,X,,---,Xy04id 000 f00000000000.
oo00o,00CcCMCO00ODO0OODOODOOODOOO0DOOO0DOODOODOOoDoOoOooOGg
guooooooooobobooon.

0000000000000 0000, fOOOOO0OOOODODOODOOO, g(x)=00
00 H(x)f(x)=0000 (Importance Sampling density)g 000 00. 000, ¢0

(= [ Hrxax= | He S gxax = 5L

R™ Rn 9(x) 9(X)
D00000.000,00000000000000 (Importance Sampling) 0 0 0 O
5 N f(x

DDDDDDDDDDDDD,K_%ZhJﬂXQ$$DDDDD.DDD,XM~WXN
0iid000¢00000000O0O0DO. DO0O,00ISO0000000 CMCOOO
0D00000000000000D0 ¢*0000000000000,I1S0000000 ¢
0D00000000000DOO0D0O0O0.

000,00000000 ¢ =22@W0opo00n,¢0¢00000000000

O,00000¢000000COODOMN




00000,0000000000DO0000DLD00D0DDOO0 grOb0DbO0OD0DOOOO
o000, (Hoooooooooo, (2)Cress-Entropy00000000O0ODO. (1)OOO
00000, 00b000b0000b00obDbO00o0b0o0bO00,000b0bO0oDbOo0oDbOo
0.00,(20000000,000000000000000DOO0O0O0O0O0OOOOO
O00,00000 Traveling Salesman Problem 00 000000000000 0OOOO0O
gbooboobooooobooobg.



